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1. yferiy afeeT # diees &l gramaa: fehdAT T@1 Sa1 82 / The voltage in resistance welding is generally kept

between
(a)  28-36 e / volts (b) 28-20 dleT / volts
(c) 12-20 GIeT / volts (d) 4-12 9w / volts

2. Uity afeen & Hey & e # ¥ 11 f3avo 98t § (8) / Which of the following statement(s) is/are
true for resistance welding?
() f4qygd vare &1 9y GEHW@?IT % / The time for which current flows is very important
(i) fIcgd &I ¥ FA F TIc, 378 $1 B O 19 B IR WIS 8 / After switching off the current,

the pressure is maintained until the weld cools

(i)  =fdeH & T o & Grad E@E@Tﬁ T} SIgTUT ST 8 / Water is circulated through hollow electrodes

for cooling
(@ (i) &(ii) (M) (i) & (iii)
() (i) & (iii) (d) (i), (ii) & (iii)

3. TE-X GRT IATSd fthed &1 1 Hgd 67 / The film produced by X-ray is called as
(a) UFUH /Exograph (b) FSTUH / Radiograph
(c)  TMHEM® / Gammagraph (d) WIEH® / Photograph

4. V8 + V32 BT HHE T 82 / The value of V8 + V32

(a) 6\2 ® 26
© 2\8 d) o4

5. 0.81 ﬁﬂ"fﬂﬁ?ﬂi 87/ The square route of 0.81 is?
(a) 0.19 ®) 0.09
(@ 90 @ 09
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10.

TE-04

Yo % 36l @) Avs $ U AT Bl SfeeT ufshar T SUhNT fH S 82 / Which is the welding

process commonly used to weld railway rails?

(a) fawpict afeeT / Explosive welding (b) URarS JfeeT / Percussion welding
(c) WRIyed Afegn / Ultrasonic welding (d) yfife Afeem / Thermit welding

afeen Ak & 50 YBR & A WHEG BT IYGNT a1 W1 82 / Which type of fire extinguisher is used in
welding shop?

(@)  CO, 3 UMD / CO, extinguisher

(b) 2@ 3% YMHH / Halon extinguisher

(c) TIH UHR &1 30 UG / Foam type extinguisher

(d) P UTSHS AU WHS / Dry powder extinguisher

JHifege 9 Qﬁl’cﬁ?ﬁ:{ & fom BISl &1 Tl W1 o Bre %? / What are the correct colour of hoses for oxygen

and acetylene?

(a) 3T & fore arel iR wfidieli & forg -ftel / Red for oxygen and blue for acetylene

b)  3fifees & forg srar ok T & fU @@ / Black for oxygen and red for acetylene

(¢ Hifaae & 1T wrer 3R TfEdieta & folT 7 / Black for oxygen and maroon for acetylene
(d) oo & forg dre 3Rty & T 3%+ / Red for oxygen and maroon for acetylene

$309U & T 1 ST 8?7 / What does L stand for in E309L?
(a) T /Lead (b) FH HIE / Low carbon
(¢) HHTYS /Low sulphur (d) FH BRI/ Low hydrogen

Prfafad & @ @1 e &1 UbR T8l 87 / Which of the following is not a type of developer?
(a)  dd fao™ [g@™a® / Oil soluble developer

(b) WA faerg fawTg® / Water soluble developer

(c)  od ciad fddmIe / Water suspendable developer

(d) [ USHS / Dry powder
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11. 3 RRI ———— S Gy SgaR gl § / Arc stability is better with
(a) St ST/ DC welding
(b) TR AEET/ AC welding
© T g AiafeeT/ Both AC and DC welding
(d) fa<®d emyfd / Rectified supply
12.  fioel ug o el Wit T & e e 7= &1 IudnT fsan @1 82 / Shielding gases are used to
protect molten metal from
(a) e WagH R IR TS T / Being too cold and not penetrating
(b) A HET EH 3R Tgd eg Yae 819 U / Being overheated and cooling too fast
(c)  TRYA UG YRRAT ¥ / Porosity and brittleness
(d) o 3R U0 F / Heat and distortion
13.  yfa afeen & Sumadt wrafe sififrar & SR aIeM &1 %H o 8id1 87 / During exothermal chemical
reaction in Thermal welding, the temperature is the order of
(a)  3500°C () 2700°C
(0 2000°C (d) 1700°C
14. &9 Ui, Cu IR Al Teg & Afeen $ Rw HHU Sarar Iuged it 87 / Which flame is suitable for
welding of ferrous metals, Cu and Al alloys?
(a)  3amEH sdrell / Neutral flame (b) SHFIISERIT Sare / Oxidising flame
(c) W@'FI Sdrell / Carburising flame (d) G'E@'CH T Y HIE 8! / None of the above
15. TUUAUSSY, # 3000 4RI & 9y 3fcen % U 3oacis &1 SR &1 il 87 / What is the electrode size
for welding with 300A current in SMAW?
(a) 18" (b) 1/4"
{0 52" d 7/32"
TE-04 5 March 2020
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16. <) afce v § ufa {5 & [ sravgs faggd ol @l AT T 87 / What is the amount of electric
energy required per kg in de welding operation? '
(a) 1-4 kWh ~(b) 3-7kWh
(c) 4-9 kWh (d 6-10kWh

17. ud Ifeem a'l'{:l‘Flﬁ'{ B &1 AT 8? / What is the efficiency of an AC welding transformer?

(@ 0.9 (b) 0.8
(¢ 07 (d 0.6

18.  @red o dfcen ¥ BUIHS <fia TR dTUHM &1 §idl 67 / What is the temperature at the negative
| terminal of carbon arc welding? %
(a)  3300°C (b) 3200°C
(c)  3100°C (d) 3000°C

19.  Jest S IR o STUNTT BT &l & 8 Tgad GRa Sudiy= &1 87 / The safety accessory to protect the front

body of the welder is
(a) TUF / Apron (b) 7 e / Googles
(c) geic / Helmet (d) %‘TSW / Hand Gloves

20. yfifeafcen & SR fea YTgH &l 87/ The slag formed during Thermit welding process is:

(a) FeO b)) Al
(C) FCgOg (d) Ale}

21, TR tanh=5/128, A sind (0 is T HIVN) = A I 87 /If tand =5/12, then sind is given by (6 is acute

angle)
(a) 5/13 by 5/12
() 12/13 @ 12/5

TE-04 6 March 2020
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22,

23.

24.

25.

26.

yftfe ufafesar # Sarfed arqH &7 IRHETO &1 82 / What is the magnitude of temperature produced in

Thermit reaction?
(a) 2000°C (b) 2500°C
(c) 3000°C (d) 3500°C

frfafea § ¥ w-Rame afeen ord areft afcsT ufhar S 82 / Which of the following welding
process has self-regulating welding arc?

(a) UIUSsH, /PAW (b) wHETSsY, / GTAW

(c) ©ITATSSY, /GMAW (d) TUTATSSY, / SMAW

Ry dfeet # fea-t siftean ".:hag‘ =1 dee a1 o g %? / What is the maximum thickness that can
be welded in ultrasonic welding?

(a) 1.8 mm (b) 2.0mm

(c) 2.2 mm (d 2.5mm

oo ®arA Ufchar H TR Hd® cfd # fbar f9g Suasy §1d §7 / What are the number of openings
available in the cutting torch used in oxygen cutting process?

(@ 5 b 6

© 7 @ 8

Fefeee # @ Sil 32 Sore e Sifel gRT UaT el TS S Wabelt €7/ Which of the following defect is
not detected by dye penetrant test?

(a) YoM /Cracks

(b) e FfeAT / Forging defects

(¢)  &RUT/Leaks

(d) TR i@ 3fda¥= / Non-metallic inclusions

TE-04 , 7 : March 2020




f.. HUMAN SPACE FLIGHT CENTRE SET
3&4% TECHNICIAN (B) - WELDER : C

27. TR & faega U I ©? /LASER is an acronym for
(a) GIECRCIIEAE TS TRUS TERH 31 I(SUTF / Light Augmentation by Sustained Emission of

Radiation

(b) dTse URARPS I T15 WU UHEH 3t IS / Light Amplification by Sustained Emission of

Radiation

(c) e e a5 Rmecs fRefths T 3T ISUYA / Light Augmentation by Simulated

Amplification of Radiation

@) e uRafhe e a8 @l fegads uhRE it A / Light Amplification by Stimulated

Emission of Radiation

28. T Afeen ¥ Ty § Amiiad ¥ § S fGavor w6t 76t 82 / Which of the following is not true for gas
welding?
(a) Us 3{1d5 doeT 4 e 8 / It is slower than arc welding
() EE T B @ SR "uTe H YRaE B RS § / There are safety problems in storing and

handling the gases

(©) 3T des B gorl H ST UuIfdd &= 3R fd=TU 1 § / Heat affected zone and distortion are less

as compared to arc welding

(d) g Uden el & e JUgE % / Tt is suitable for thin sheets

29. gAEHEEH 3fSen ¥ SR Of¥ee ufaY Gu=dT &1 5H &1 81aT o7 / The approximate power density during
an electron beam welding is of the order of
(a)  10%to 10° W/em® (b) 107 to 10® W/em®
(¢)  10°to 107 W/em® (d 10°to 10° W/ecm®

30. 3T dfeet H, dwyg des & g PR I TEdl &1 R S 8T 87 / In arc welding, which three

major parameters have to be controlled for satisfactory welding operation?

(a) $RT, 9ieesl Ud I @1 71 / Current, voltage and speed of travel

(b) YR, 3MTh B delTs Ud A1 1 T / Current, arc length and speed of travel
(c) YR, dees UY 3T P Talg / Current, voltage and arc length

(d)  dree, 3 BT TEE T4 A1 B T / Voltage, arc length and speed of travel

TE-04 8 March 2020
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31.

32.

33.

34.

35.

TE-04

iRy AfceT H & W@WT}I 8Id 87 / In resistance welding, two electrodes are made of
(a) TIMMTH/ Aluminium (b) @IeT /Iron

(¢) DI/ Bronze (d) Q™ /Copper

Pt § O AT ord gRT SR BT TR-smasR R ard-A7 &1 awifaa SR gl 87 /

Which of the following non-ionising radiations emitted by welding arc is likely to cause arc-eye?
(a) QRIS (“{Laﬁ.) / Ultraviolet (UV) (b) 3y / Infra-red
() == / Visible (@ Iudad & A PIS A8! / None of the above

3l 1 g 9araT € % 7 Ohms law states that
(a) UNTdieed & 91y faudia ergurd H Iat § / Current is inversely proportional to voltage
(h) URTdlecd & HTQIHTIHEH?P[ BIdl 8 / Current is directly proportional to voltage

(c) YRT (@eew)’ & a1y famia S{qUrd H 8Ift 8 / Current is inversely proportional to (\mltage)2
(d) R (@lec)’ & 91y W@qﬁﬁ 81 8 / Current is directly proportional to (voltage)®

3 dfcem H e Bt Fﬁﬁ YT i F THE B § / In arc welding, the arc length shall be

approximately equal to
(a) T[AThT & AR BT gl gt % / Twice the diameter of the rod
(b) T[T & ST BT 1.5 T BIAT ® / 1.5 times the diameter of the rod

(¢) VIl & Y & S giat § / Diameter of the rod
(d) T & TG BT 3T e § / Half the diameter of the rod

37 afesT & arid & gy o1 uRkom —— BIaT g / Very low current in arc welding will result in
(2) 3fcsa urg &1 sifaer, afear AeF, Sdaciel & sXalal / Excessive piling up of weld metal, poor

penetration, wasted electrodes

(b) INEH @D, BRI BT Yo, At Fad, sadgre! @t SETEl / Excessive spatter, under

cutting along edges, irregular deposits, wasted electrodes

(c) A BIC A, 'gﬁ?f dce, 3?17:@@ P] SRSl / Too small bead, weak weld, wasted electrodes
(d) GTREHH Tt / All of the above

9 . March 2020
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36.

37.

38.

39.

40.

FrefoaRed & & oF Wgfa ufsar & e siadt-wmesia afcen ardd Suged 82 / For which of the
following processes of joining, Oxy-acetylene welding is most suitable?

(a)  YIg ¥MT / Metal sheets (b) YT & / Metal tubes

(c) YT dRR / Metal wires (d) T S¥/ Metal bars

3 afee uftrar & gamafas ot g o 8? / In arc welding process what is the frequency of the
alternator?

(a) 350Hz (b) 400 Hz

(c) 450 Hz (d) 500Hz

TR-IUHIST 3ATEIS S & o FmT & T i | verel o1 SUTNT 81 31 ST 87 / Which of the following
material is not used for making non-consumable electrodes?

(a) @I /Carbon () TfS$TT / Sodium

(c)  WTPISC / Graphite (d) TRET / Tungsten

AP e dfeeT YRT S SR ST SIS 0 feGeT 87 / Which bead character is seen due to too high
welding current?

(a) YIS A=A / Pilling of metal

(b) Jes fPa M HIGED] AT / Pilling of weld metal

(c) BIC SI8! ®I T3 / Small bead formation

(d) AP 358 / Excess splatter

YaD1g B & e g1 Fefefad B @ {69 3 &1 ot 781 e S @ehd1? / Which of the following
defects cannot be detected by magnetic particle inspection?

(a) sfifel 1ol / Fatigue cracks (b) AT HSH / Thermal cracks

(c) A& Yol / Quenching cracks (d) H|dg YSH / Surface cracks

TE-04 10 March 2020
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41.

42.

43.

44.

45.

HIes AT TIET @1 &x ot HHd: ol -d HEr ﬂ'ﬂ'@ﬂﬁ?‘ﬂ‘ﬂﬁﬂ% 3] ¥ 9T 87 / Rating of soldering

iron which is normally used for electronics works is in the range
(a) 7501000 Watts (b) 500750 Watts

(c) 250 — 500 Watts (d) 50-100 Watts

diae iR i & afeet & forw ST ST Jugad 8?2 / Which flame is suitable for welding of brasses and
bronzes?

(a)  SffRIIPHRS Sar@T / Oxidising flame

(b)  IorH SaTal / Neutral flame

(c) W@TUTWWIT / Carbﬁrising flame

(@ Iwad B § $IS 8l / None of the above

1o N B b New HRI Rigd B2 god 87 / For how long is a penetrant allowed soak in cracks?
(a) 209 to40 fiC % minutes (b) 159 to 35 c d® minutes
(c) 10 ¥ to 30 BFC & minutes (d) 59 to 15 BT dF minutes

gm-dl 9 gH-g §¢ Jeg Bl SUANT (Ffaiad Aiers ard @il & fre faar St § / Double-V and double-U

butt welds are used for plates of following thickness:
(a) 1-5mm (b) 5-10mm

(c) 10 — 15 mm (d) Above 15 mm

———— @I dfeeT & o SRl ST FUged % / Neutral flame is suitable for welding of

(a) Rt T / Silicon alloy (b) T TAI Tungsten alloy
(c) fA%a TAT Nickel alloy (d) dETE™ Copper alloy

TE-04 11 March 2020
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46. T dRed od Afee (@ e st A FrEfiad yaar &1 Sudn far o @

In gas Tungsten Arc Welding (TIG) the following polarity is used:

(a) et URT Sord yadl (SLA.3MROY)/ Direct Current Reverse Polarity (DCRP)
(b) el YR B yadr (S / Direct Current Straight Polarity (DCSP)
(c)  UcTEdl YRT I $MgRT (T TLUP.) / Alternating Current High Frequency(ACHF)
(d)  Iudad Tt / All of the above
47. 3 4 B v afeen # 9T S (T9) B guiar 87 (3 = uirR  fiegy, o = afeen Y e
ard &3 &1 Uiy, & = fdggd WaIg &1 ¥9a) / The Heat (H) generated in welding is represented by (I =
current in amperes, R = Resistance of area being welded, t = time for flow of current)
(@ IR% (b) I’Rt
© IR (d 2IRt
48.  THUNS. FI&Id16? / What does HAZ stand for?
(a) BT AASS TAH / Heat Allowed Zone (b) Elc UWhacs O / Heat Affected Zone
()  BCURATHT / Heat Area Zone (d) BT WS T / Heat Aerated Zone
49. ¢ o dAfcen @ o Frd Wt B, &), A YRT / If the heat input of arc welding method is
increased, the required current )
(a) a'cr?ﬁ% / Increases (b) "Tdl 8 / Decreases
(c) YHFIBAIE /Remains same (d) @ TEY Tl / No relation
50.  TTgH Sideid H @req & Ry Hgad SUT T BT 87 Fuel gas used for cutting deep under water is
(a) TRICTEA / Acetylene (b) TAWSH /LPG
() HiYF / Methane ‘ (d) ®ESIeE / Hydrogen
51. U & g wife AfTen §, 3es 9F &1 T —— SR IR el t = ¥fie @Y Hers / In spot welding,
for lap joint, the diameter of welded zone should be where t = thickness of the sheet
(a) 8t+2.5 mm (b) 4t+2.5mm
(c) 2t+2.5 mm (d) 12t+2.5mm
TE-04 12 March 2020
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52. Uw T R NS B T G50 | AR A B S I BV MY F 2 T oMl +5 @ A A 3T T Ul TR/
Sum of the ages of a mother and daughter is 50. If mother’s age is 5 more than two times daughter’s age,
find mother’s age.

(@ 15 ®) 35
ey B @@ 50

53.  JabH ¢adr Sfeen & dey RyEfiad & | S fJavo get €7 / Which of the following is true for reverse
polarity welding ?

(a) FTd SRS BT § 3R 0dIS Bleey P W Bl § / Work is positive and electrode holder is

earthed

(b) TR Blest YATHS Bl § 3R 1 B HTe 1T & / Electrode holder is positive and work is

earthed

(c) ENESS BleeX YIS BIdl 2 ok o HUTHS Biar ® / Electrode holder is positive and work

negative

(d) Eﬁﬂfﬁs’ Blcey BUTHD BIT g IR BE YTHS Bl % / Electrode holder is negative and work is

positive

54. P H Y frue g ws Ifee JUad BId1 87 / Forge welding is suited for which of the following?

(a)  dTSd @igl / Wrought iron (b) adi el / Cast iron
(c) TG WA / Stainless steel (d) Jod BTe- Wid / High carbon steel

55. o afeen & ar # Pl § 3 s faewo wet 27 / Which of the following statements is true about

Projection welding?

(a) UGS dg-Wic 3feen ufehan § / It is a multi-spot welding process
(b) T U@ MR Wie afeen ufar 8 / It is a continuous spot welding process

(© 3V HANR ITH F forg ug fobar i % /It is used to make cantilevers
(d) sﬁﬁmaqﬁéimwmm% / It is used to form mesh

56, [Efiad & ¥ S 0 o8 YT HOA BT HRUI EIdT 87 / Which of the following property is responsible

for weld metal cracking?
(a)  dgHEME &I / Temperature conditions (b) < fRUFd / Pressure conditions
()  fd@fd / Strain (d) Hfdqed / Stress

TE-04 13 ' March 2020
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b7.

58.

59.

60.

afeen %%’Qﬁﬂﬁf@ﬁﬁﬁ Wﬁw Wﬁﬂ IERIRSIGI %? / Which one of the following is a design

recommendation for welding?

(a) Uﬂ”ﬁo_d SUAR &1 HGLIEdl ald des! &I Udl FlTﬂﬁ / Locate welds where special finishing
operations are required

(b) s fobd T FHead F 3ifid YT EHT WY / Welded assemblies should have more parts

(©  fcen ® IRM 3PS Fieek B Fefer & 3ifthd B THERIT Je T TMRT / Welding should
be done horizontally with the electrode holder pointing upward during welding

(d)  des firee & gt BT THaH W@ FIRT / The build-up of weld fillets should be kept to a minimum

Iude g Afcen A A A Y DI TR BT UfaRry LIEIRSIGH %? / Which kind of resistance is experienced in
upset butt welding?

(@)  YIPI YRy / Magnetic resistance (b) faggd ufcRIY / Electric resistance

(c) I AR / Air resistance (d) SSMURRIY / Thermal resistance

el S Sfeen ufar & ey & i@ & 9 S5 e a9 78 27 / Which of the following is not

true about Electron Beam Welding process?

(@ {dlSY P P AT GEIHG ©U ¥ J@™E § / The cost of EBW equipment is

comparatively higher

(b) STy FT ST A §U S wU Qi afet B des A o1 g 2/

Highly reactive metals can be welded using EBW
(c) éﬁﬁéﬁ’-}[\ & forg fireR IR &1 srazgsd 81t 8 / EBW essentially requires a filler wire
(d) '{'Eﬁm & fore frafa &t srawgea 8 & /7 EBW requires vacuum

g ﬁglﬁl'—i H‘]Tcﬂ DT Hold 1 %? / Hydrogen embrittlement is:
@) afcsT & R S 9T A ¥ TrSIoR 9 SIS @1 IO S At g AfeeT ufar

A gas welding process using hydrogen and oxygen to generate heat for welding
(b) oI A ETISIoH & IRUT 3R qeITA, fITR F BROT 1g &7 R B & 8 9o o wipar /

A process by which metal becomes brittle and fracture prone due to the induction and subsequent
diffusion of hydrogen into the metal

(c) wafmﬁqﬁmuﬁﬁwmmmﬁ$mwméwmm hard facing operation

to provide wear resistance properties to the surface of components

(d)  dvsHe $ TGl 3R e B TG F T TSNS ARy & ST Te S IuER Uik /
A heat treatment process carried out in a hydrogenated atmosphere to increase the strength and
toughness of the weldments
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5. gt SEAE YT % Tl W o g TE IR b g i 3, I T A W YA K e I o fo wh o1

rer | R g % e Ues | 21fires 3w S Tad IO A S|

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and

MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. q&ﬁmﬁaﬁww%%ﬁmﬂmgmgmgﬁ%ﬁmw%,ﬁﬁaﬁ.@.m,iﬂzm,ﬁmﬁ

R QT S HET A 2| T T FA W, I-YIERT H AT Tal R S

Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory

to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not

be evaluated.

7. ﬁwﬁwwﬁw%wﬁw%wmﬁmmmélWﬁsﬁzqﬁfarﬂwﬁl

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. sufeufy vie T weder O ¥ Tea, whenefl wi sufeufy sfe W gfen wie foran g wameff St s T % |

2 gEaen F1 g

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.

Candidates should sign against THEIR names only.

9. ullem & ai'crﬁ(1)qﬁﬁ%ﬂﬂﬂq%@aqﬁm%ﬁaéﬁ(2)u=§raﬁ.@.m.waﬁzﬁﬁwaﬁamm§aﬁn
et ot oftfeafa o sremeff 58 7 & S

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.
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